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On Halloween night, Charlie Brown and Linus are trying to catch the Great Pumpkin as it rises from the pumpkin patch to bring presents and candy to all good calculus students. They spot the Great Pumpkin just starting to rise at a distance of 80 feet from them.   If the angle of elevation is changing at a rate of 
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 radians per second…
a) How fast is the altitude of the Great Pumpkin changing when the Great Pumpkin is 6 feet off of the ground?


b) How fast is the distance from Charlie Brown and Linus to the Great Pumpkin changing When the Great Pumpkin is 6 feet off of the ground?


c) If Charlie Brown and Linus can run at a rate of 20 feet per second, can they catch the Great Pumpkin before it gets out of their reach of 6 feet?  Explain your answer.

_1411905220.unknown

